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KEYNES AND FULL EMPLOYMENT

Keynes looked at that feature of capitalism, the trade cycle, and pointed out that there was no rational reason why means of production and labour power should lie idle. The mechanism of the market means that exchange can take place; it does not mean that exchange will take place. Keynes showed that the commodity side of the exchange was not lacking: there were the means of production and labour power necessary for producing commodities. The problem was that there was not the means to purchase them. His solution was simply that the state should extend the credit for purchase: to increase the consumption in a national economy.

Before Keynes, consumption occurred to the extent that the working class was employed and able to consume because its labour was required by the market and also to the extent that it was profitable for capitalists to purchase means of production. After Keynes, the Government has used the credit at its disposal to ensure that the consumption of the working class is sufficient to call forth into productive use all the means of production and labour power in the nation, and also to initiate purchases of means of production both on its own account or through grants to private capitalists. In Britain, the Government has invented the "regulator", statutory powers at the disposal of the Chancellor to vary the rates of purchase tax by as much as 10% in between Budgets. The Government foregoes so many £million in taxes and borrows the resulting deficit to be able to meet its commitments (aid to industry, education, subsidies to local government for housing etc).

Therefore, quite independently of the "normal" workings of the economy (of activities of capitalists and workers) the amount of value consumed by the working class increases. It is obvious that there is no need to use the regulator if all the means of production and labour power are fully employed.

The decision to increase consumption must be taken as a result of assessing the capability of the society to produce (its total means of production and total labour power) and whether in fact that capability is being fully used. This assessment must be made as a result of conscious investigation: the mechanisms of capitalism provide no immediate answer.

UNCOMPETITIVE PRODUCTION

Keynes first pointed out the strictly rational and deductive solution to the trade cycle in the late 1920s. At that time Britain was also trying to deal with another "problem" which was of far greater significance both to capitalists and the working class. British industry had ceased to be able to produce commodities for its own home market and the world market which could be sold at a price which would bring enough profit to enable costs to be met (i.e. wages paid, raw material bought and replacement of means of production accounted for) and capital to be accumulated (more means of production purchased). This "problem" had been visible since the l890s.

Engels drew attention to it and pointed to the features of the English bourgeoisie which he had observed in the course of managing his textile [business] in Lancashire. He had seen the total disregard for the need for conscious action in determining what to produce (what was needed by the prospective purchasers and then ensuring that it was in fact exchanged). The English bourgeoisie continued in their mills to produce "what they had always produced" and when their German middlemen deserted them in order to sell German commodities the English found that their markets had been taken from them. Engels states that the German middlemen had promoted English commodities in the first place because the English bourgeoisie had been disinterested in where their commodities were to be exchanged.  

These features were historically determined. Most mill-owners in the 19th century had originally been artisans and small commodity producers, not merchants. They understood the production process and technology; they had had no contact with the market or of the skills which it demanded. By the 19th century Britain had had a market economy for 300 years; the features of that market economy were not new or extraordinary, nor did they require to be understood, they could simply be assumed. What occupied both capitalist and working class in the 19th century were the problems arising out of industrialisation, the changes in the production process brought by machines and the factory system.

The change from an economy where needs are not met by social labour of a nation, but by at best small groups (i.e. subsistence agriculture operated by individual peasants who act as a community for jobs like ploughing and harvest which require village not individual labour) to a national economy where all needs are met by social labour, where the division of labour is so developed that village self-sufficiency is literally impossible, is a profound one: it is a change from one mode of production to another bringing with it a tremendous development of social labour and of the productiveness of the society (read Marx on the changes British rule brought to India). France and Germany were still going through this change in the 19th century. Britain had long ago undergone this change and absorbed it in the consciousness of its classes.

Then in the late 19th century, the British bourgeoisie and working class found themselves redundant. Their products could no longer command a ready market either at home or abroad because the commodities of Germany and America were underselling them. Those industries which had provided the backbone of Britain's production - textiles, shipbuilding, coal, steel and engineering - were no longer needed it seemed. The needs which these industries had met were now being met by the industries of other nations with more advanced and cheaper commodities not only abroad but also in Britain. In this situation, Keynes is no help. Increasing the consumption of the working class or purchasing new means of production only calls into production factories and workers who produce commodities which either cannot be sold or are sold at a loss.

WHISKEY AND TOURISM

The 'left' may well ask what cause had the British bourgeoisie to be worried. After all, as capitalists they are only concerned with profit and the British bourgeoisie could continue to earn that (l) by investing abroad and (2) by adjusting to the international division of labour so that in Britain what was produced was determined by what was profitable in the international division of labour: Scotch whiskey, luxury textiles for the ruling class around the world, fashionable foods like British biscuits and toffees and finally tourism, civilised holidays for stately-home and stability lovers. This "pure capitalist view" was put by an ex-Wilsonite member of the bourgeoisie in the Observer on 25.2.73 : "I see no reason to expect that there can be any upsurge in investment in British-owned industry. As the managing director of one specialist engineering company told me when he opened a factory extension in his works, 'I must be mad. I could treble the return on this land if I let it for offices'. But he is a professional engineer, backed by American capital. So, he invested. Investment is an American habit. It is unlikely that British-owned manufacturing companies, outside a few special cases like Scotch whisky (now a capital intensive affair), specialist engineering, quality textiles, and parts of the rag trade will offer much in the way of employment opportunity in the long term. Certainly not for the un-skilled or semi-skilled. As for the skilled workers, the relatively few products of our deficient education system will have to find their individual prosperity either in American-owned firms (if the Americans don't get disenchanted first) or in Europe. Freedom to sell your skills across the water will be the one solid benefit to the British worker from our entry into EEC."
In fact, since the l890s the British bourgeoisie have attempted to resist this solution. They have attempted to resist because they still had the desire and will to live and derive their profit from, and organise production in a national economy. A national economy means being in a position to continue to develop the productive forces within that nation according to the needs of that nation (competing against other nations): an economy which can produce its own means of production, can make innovations in technology on the basis of its own skills, can provide its own capital for social reproduction and accumulation. This should not be mistaken for the metaphysical concept of autarky: where a nation has no international trade, is totally self-sufficient and exists unto itself. It means in fact that a national economy competes with other national economies in providing the same commodities for sale on a world market and that the productive forces of each nation are developed on the basis of this competition.

If a national economy is strong, it keeps up with competition and keeps on developing its productive forces. If not, it starts producing hotels and whiskey. The choice is clearly between keeping up with the international development of the productive forces or falling by the wayside.

The 'left' may again ask, of what interest is all this to the working class. Why should it matter whether the working class produces pretty hotel rooms or machine tools: in both its surplus value is appropriated, it's still capitalism. Marx states in the Manifesto: "Though not in substance, yet in form, the struggle of the proletariat with the bourgeoisie is at first a national struggle. The proletariat of each country must, of course, first of all settle matters with its own bourgeoisie." (Selected Works, Vol I, p43)

A working class which wielded political power in a nation producing whiskey and biscuits would have very little ability to defend itself against capitalist nations, because it would lack the means of survival: the means of production and necessary consumption to sustain its workers. And to develop such productive forces is not only a matter of pure revolutionary zeal as the situation in the USSR after 1917 showed. It is a matter of generations of much effort and deprivation; of the acquiring of much skill and education. 

Second, in a national economy producing whiskey and biscuits, the level of subsistence of the working class is more precarious than in a competing national economy. In the trade cycles which still occur on an international level, items like whiskey and foreign holidays are among the first to be cut back when other nations have to take their belts in. The ability to withstand the vicissitudes of the trade cycle by relying on internal resources is clearly weakened and the working class' consumption suffers as much as profits 

Third, the level of consciousness of both working class and bourgeoisie must suffer. Consciousness reflects the reality around it. Britain produces scientists and educates its working class to a certain standard of literacy, numeracy and skill in order for production to continue; it is the needs of production which call forth consciousness. Without this need, consciousness of the productive forces and developing them becomes purely random and a matter of indifference to the society (read anything on the attitude of African nations to education).

It is certain that "falling by the wayside" for the British economy does not make a transition to Communism impossible. It is also certain that in this situation the chances of the working class developing the will and ability to wield political power and sustain its rule against the capitalist world are much lessened. To argue that these matters of national importance are of no concern to the working class is like arguing that it only a question of form whether the working class work l4 or 8 hours a day or that the working class in Northern Ireland should be strictly indifferent about whether they live under Southern or Northern Irish capitalism.

WHAT IS A VIABLE NATIONAL ECONOMY?

This position begs the fundamental historical fact that social development of all kinds (both by the capitalists and the working class) has occurred on the basis of nations as viable social and economic and cultural units since the l6th century and that if Communists intend to act in history they must act on the basis of accepting nations as viable social , economic and cultural units. This fundamental historical fact underlies the B&ICO's position on Britain's entry into the EEC. The EEC is an attempt to develop a European nation as a viable social, economic and cultural unit on a voluntary basis from 9 separate nations. The question of whether it will succeed is still unanswered. It is a fact that the success will depend on the conscious action of the bourgeoisie and the working class in the 9 nations: on their ability to make the changes involved in integrating 9 separate national economies into one and their will to do so. Further articles will deal with this.

The fact that the working class has no interest in nationalism or in oppressing other nations or in fighting wars for national honour and that it has a definite interest in supporting members of its class in all nations as and when that support is necessary means that the working class has an interest in organising internationally. It is not beyond the realms of historical possibility (though it remains a highly hypothetical possibility) that there will be a voluntary union of all nations under capitalism in order to develop the productive forces: because of the necessity for capitalism to continue to revolutionise the relations of production if it is to survive. It remains a highly hypothetical possibility because of the uneven development of capitalism.

At present much of the world is still in the throes of developing national capitalist economies and therefore still coming to terms with founding a unified national market, national politics, culture and even a national language. It also remains true that the working class' ability to achieve a voluntary unity of nations (as occurred within the territory of Tsarist Russia after Oct 1917) depends on the historical circumstances when the working class of one nation takes power in its nation. Had there been a revolution in Germany in 1918, then the question of a voluntary union of the USSR and Germany would have been very much on the agenda. Because there was no German revolution, the internationalism of the working class was not soiled or betrayed because there was no such voluntary union. Indeed, Lenin in concluding Brest-Litovsk showed that the working class having taken power in one nation was furthering the international interests of its class by defending itself against international capitalism: that its forces in the USSR were too weak to overthrow national capitalism in Germany without the German working class.

The working class has an active and material interest in the development of the productive forces within each of the capitalist national economies in which it exists. It must be an active interest because as materialists we know that a class must develop itself on the basis of what exists, i.e. it is a matter of concern to the working class that it labours at a definite level of technical and social organisation and that what it produces is a direct consequence of that level. If this were not the case, then communism would indeed be a matter of the spirit and would depend not on the ability of the working class to continually improve and develop the productive forces by the conscious application of social labour to technical and social organisation, but on some inner soul of the class. 

In such a case the best communists would be quietists who would show the working class that the conditions under which it produced were of no consequence, had no bearing on the question of Communism. They would say that there should be strict indifference to whether it was a steam locomotive or an electrified high-speed train which ASLEF members drove; that there should be stoic acceptance of producing surplus value by using a manually operated lathe or an electrically driven one; that a worker should be unconcerned whether he produces whiskey or computers. 

In Tsarist Russia the Bolsheviks dealt very little with this aspect of the working class' development because in Russia the main obstacle to the development of the productive forces and the working class was political: the fact that no viable national political unit existed under which capitalism could develop. In the event, the bourgeoisie proved incapable of creating that political unit and the working class proved equal to the task. Bolsheviks began to deal with the relation of the working class to the productive forces after 1917. They necessarily took both working class and means of production as they existed: read Lenin on the importance of electrification to the revolution, on the possibilities of the trade unions organising production (as trade unions). There is no doubt that had the bourgeoisie been able to create a capitalist nation unit in Russia in 1917, Lenin would have been equally as concerned to develop the working class' interests in the productive forces.

THE BRITISH WORKING CLASS AND THE PRODUCTIVE FORCES

In Britain, the working class has certainly not behaved in a quietist manner towards the technical and social conditions under which it produces. In 200 years of working in conditions of industrial production with machines and factories, the working class has not only developed its consciousness of the conditions under which it produces, it has also become capable as a class of conscious determination and development of those conditions. It has developed the ability to order production and to a considerable extent has the ability to develop the means of production technically without the hierarchical authority of line management or chargehands. 

That this  is indeed the case can be seen by reading the case histories of the Industrial Society or any management consultants on the amount of jiggery-pokery necessary to give the chargehand or foreman the idea that he does have some authority or power. The situations which the Industrial Society is called on to remedy are those where the foreman is completely bypassed by both workers and management who recognise that the shop stewards are the agent by which production is organised and kept ticking over. The editor of the magazine of the Institute of Directors interviewed top directors in firms from ICI to Bulmers Cider and the National Coal Board about how decisions concerning industrial relations were taken by the Directors. In every case he found that decisions were taken on the basis of what "line management" (those closest to the working class who "supervise" and "oversee" production) told top management was possible: i.e. what the working class would allow.

The job of management is now (1) introducing what technological and organisational changes are necessary in order to continue to produce competitively; (2) to decide how much and what to produce on the basis of what they believe the market can bear (what can in fact be exchanged); (3) to provide the necessary capital for continued capital accumulation (new means of production). The conditions under which the working class orders production appear then to the working class as decisions taken by managerial prerogative. It is now normal practice for management to give workers reasons for why decisions about the conditions of production (introduction of new techniques etc) have been taken. 

But the working class at present exercise only a negative and limited control over the determination of conditions of production. It is still management's job to set out and take decisions about these conditions: the working class has a recognised veto over these which it can wield according to its organised strength and also according to whether its objections can be met within the criterion of objective reality. It is the management's job to assess objective reality and take decisions concerning conditions of production accordingly. Increasingly, management are finding it necessary to give its workforce reasons for taking those decisions. Future articles will deal with this question in greater detail,

The conscious control over the organisation of production which the British working class exerts is possible because the class organised itself and enforced its interests in production. Trade Unions in Britain have developed out of the working class' consciousness that production depends on them and that if the working class withdraws its labour, production must cease. Trade Unions in Britain have always been interested in more than just wages, They have been interested in controlling the organisation of production in order to control the entry into employment. If the trade union decides whether a worker is qualified for the job, it is then possible for the working class in that sector to ensure that there is a restricted labour market and the employer is unable to use men who are willing to work for less money in the job or men who wi11 not act with the rest of their class in trade unions or to take on too many men in good times and lay off the surplus when the bad times come. Craft unions developed this consciousness and ability to order production: the AUEW, ASLEF and the Boilermakers are current examples. 

The other method by which the working class in Britain has exerted conscious control over production is by the restriction of production. Piece-work was introduced in Britain in the engineering industry after a long and bitter fight with the unions who viewed it as a ruse to increase the intensity of labour (the absolute rate of surplus value): the amount of production necessary to earn a living wage would, they feared, be much more than had been previously produced under hourly pay thus meaning men could be sacked. Therefore, they opposed piecework until World War I when the unions and the working class accepted that increased production was necessary. But the working class refused to provide the increase unless they were paid: and piecework was negotiated so that a living wage was possible by producing an amount which the working class considered acceptable. In the interwar years, unions enforced piecework maxima on their members so that employment could be maintained .

THE BRITISH WORKING CLASS AND 'FULL EMPLOYMENT'

From the interwar period, the working class have used their political power to demand the maintenance of full employment, the "right to work". Once it had been discovered by the state that Keynes' use of the credit system to maintain consumption was indeed possible, this demand has been met.

However, this demand has taken the form of the maintenance of the working class in the jobs in which they are working: that the prevailing conditions of production should continue even after the workings of the market have shown that production to be unprofitable. The working class has refused to accept profitability as a criterion for deciding what to produce. Instead the criterion of what to produce has in practice become what the working class were producing before threatened with redundancy. Because of the political power of the working class in Britain, when the class uses its political power, the state cannot ignore it. Upper Clyde Shipbuilders has been supported with "public money", as has Rolls Royce and BSA. Because the working class have also preferred to remain where they are living when they have accepted redundancy, the state has provided incentives for firms to invest in "the Regions", even though in terms of transport, proximity to markets, raw materials etc it would be more profitable to invest elsewhere. "Public money'' has provided the difference.

The demands by the working class that "public money" be used to support industry which is no longer profitable shows that the working class has understood in practice the importance of Keynes' rational  solution: i.e. that it is possible to use the credit system to finance production when, under the rules of the game of capitalism, that production should cease. The working class did not make these demands of the state in the inter-war years because the class did not believe then that it was possible to achieve them. The demand in the interwar period for full employment was in terms of maintenance by the state of the unemployed at a living wage.

Profitability under capitalism is a criterion for what is socially necessary: the law of value exists in order to determine what is socially necessary labour time and what is socially necessary capital. Exchange is the means by which the law of value operates and it is the exchange process which proves that the labour embodied in a commodity is socially necessary. The supply of "public money" to unprofitable industry has meant that the law of value has been superseded by the conscious political decision of the society that commodities should be produced and exchanged because the society has desired that they should be produced, not because the market has called that production into existence by the movement of capital. The basis on which the working class has taken the decision of what should be produced and supported by "public money" has been whether that section of the working class threatened with redundancy has been well enough organised and capable of calling forth enough active support from the rest of the working class to enforce its unprofitable production i.e. it has been taken on the basis of the vicissitudes of the class struggle and the historically determined strength of the threatened sector of the working class

The use of "public money" in this way in Britain dates from the postwar years. The consciousness which reflects this new development has not been particularly well developed in either the working class or the bourgeoisie. Future articles can examine this in more detail The above has shown that the working class has acted to support a particular unprofitable industry because it has been well organised there for historical reasons and also viewing as a 'right' staying in one particular job: change ought not to be necessary.

The most conscious members of the bourgeoisie have been attempting to give Britain more conscious social control over the use of "public money". They have done this by demanding that Parliament should have more say in this kind of decision re public money. Edward du Cann, chairman of the Tory back-bench 1922 committee, wrote in the News of the World on 4.3.73: 

"The Budget Debate will be the fifth economic debate this year. It is no longer the most important debate in the Parliamentary economic calendar. Nor should it be. There are better opportunities for discussion. In each of the last four years Government has produced a completely new Parliamentary document ... Its aim is to forecast two things: the growth of the total of our national resources over the next five years, and the amount of Government expenditure during that time with the detail of every activity: so much on health, so much on education, and so on ... This is where the real debate should be. And in the years to come that's where a whole series of debates will come. Judge the matter for yourself. Government expenditure increases continually. It now represents a total of about half our whole national annual production of wealth ... Suppose we all agree on the amount of money we should raise in taxes. On what should it be spent? What should the priorities be? Do you think we should spend more money on roads - or on railways? On preventive medicine - or on hospitals? How much State help should we give to private industry? Speaking as a businessman, I don't believe that we are all that effective in Parliament in controlling or supervising Government expenditure. Lately we've made better progress. We need to make much more ... The Budget becomes less important with every year. It's the long haul which counts, not the one day's wonder."'

THE CONSCIOUS REGULATION OF WAGES

Marx shows that the laws of capitalism enforce the growing accumulation of capital. This means that the stock of means of production in the society increase: that the amount of dead labour wielded by every living worker increases And thus his productivity increases. The accumulation of capital increases the productive capacity of labour: with the same intensity of labour and the same working day it is possible to produce more. The capitalist is able to accumulate out of the portion of surplus value which falls to him in the working out of the law of the general (average) rate of profit. The use of "public money" has opened up a source for capital accumulation which does not depend on the working of this law. It depends on a conscious decision by the society that production should continue in a particular industry. That decision is being taken today for a variety of reasons: 

(l) that it represents an area in which the productive forces should be developed, e.g. computers or Concorde or numerically controlled machine tools 

(2) that it provides employment in a place or industry in which the working class has actively used political power to be employed 

(3) it is production in a sector in which a national economy ought to have capacity (steelmaking).

Within a national economy there is an absolute amount of means of production and living labour power available for production at any one time. If population is not to continue to increase thus providing more living labour, the only way in which the absolute amount of production can increase is by increasing the means of production.. Unless a national economy continues to produce means of production at an increasing rate, its working class cannot continue to consume at an increasing rate. This has been the essence of the Government's and the CBI's position in the Tripartite Talks. There is a need for the conscious regulation of wages if the consumption of the working class is to continue to increase. 

If wages are not consciously regulated, there is no way to ensure that the production of means of production is sufficient to make labour more productive: i.e. to enable the same amount of labour to produce a greater amount of goods to be consumed. (The other way of increasing production is to increase the intensity of labour or the length of the working day. Neither the Government or the CBI suggested this as a viable or possible alternative.)

The alternative to conscious regulation of wages is to let only that labour produce which is profitable. Under the profitability criterion, the accumulation of capital is taken care of by the law of value which enforces the socially necessary (and therefore paid) labour. The movement of capital forces that socially necessary labour to be profitable labour. But, we have seen that the criterion of profitability alone means that a substantial sector of the working class is unemployed for indefinite periods of time depending on the cyclical behaviour of capitalist production. It also means that a substantial portion of the means of production are unemployed for long periods. It also means that if a capitalist pays wage rates which make his production unprofitable, he ceases production. If wages are not consciously regulated by the society, the only other way to ensure the survival of a national economy is to revert to the trade cycle as a regulator of production and consumption. Keynes' logical solution that all resources in a national economy could be fully employed by the use of public credit does not determine how these resources should be employed: in producing means of production or consumption. The conscious regulation of wages is necessary to ensure that there are adequate means of production produced to ensure that capital continues to be accumulated so that  the productivity of labour can continue to increase.

WHAT THE GOVERNMENT WAS OFFERING

Heath offered the TUC a permanent place in the management of the economy. This meant 

(1) determining how much of the social resources should be spent on producing means of production and how much on consumption 

(2) deciding what and how much should be produced with "public money". "Public money" now accounts directly for one half of all accumulation of capital in Britain. Of the investment in private industry, about one third comes from the Government in the form of selective grants: i.e. it has been decided by the society to support production in that particular sector. Within nationalised industry and also private industry supported by the Government, profitability for what and how much to produce and under what conditions still prevails. However, profitability can be and is overriden by conscious social decision. Heath's offer to the TUC and the demand for increased Parliamentary control over public money are progressive because they mean taking the decisions about what should be produced out of the vicissitudes of history (based on old consciousness which does not accord with changed reality) and they represent, an insistence that the state apparatus should not take these decisions without some conscious discussion and debate and assertion of class interest by the working class and the bourgeoisie. (The 1964 Labour Government and a very large portion of the intelligentsia including Samuel Brittan had arrived at a belief that the state apparatus was the only effective body to take these decisions. This belief was based largely on looking at France where the state apparatus does indeed operate in this way. The reaction to this belief is a British one and it is progressive because it puts the responsibility for decisions on the classes in society and not a state apparatus.) If Heath's offer had been taken up by the TUC, the beginnings of a new political form would have been established. It would then have remained to see whether the classes developed and used that form.

THE TUC's REPLY

The TUC's response to the demand for the conscious regulation of wages has been the following: 

(l) to see profits as the consumption of the bourgeoisie and not the means by which capital is accumulated and therefore to demand that profits should be equally regulated so that the bourgeoisie's consumption is regulated; 

(2) to see the 'right' to ever-increasing consumption as based on concepts of 'fairness' and 'equity' which bear no relation to the society's ability to produce commodities for consumption. (Cars, clothes etc can come from thin air with public money if the working class uses its force through free collective bargaining.)

(3) to defend the present system of collective bargaining on the basis that it exists and therefore ought to be defended.

The third point implies that no other method of determining wages can ensure that the interests of the working class is maintained and furthered. It amounts to a fetishisation of the form of the economic struggle for the form's sake. If in fact it were the interests of the working class which the TUC was most concerned with, it would be forced to acknowledge that a form can evolve and change in accordance with the changed needs of material reality and that the ability of the working class to defend itself does not depend on a form but on the accuracy of the class' consciousness of the real situation.

From the TUC's "Economic Policy and Collective Bargaining in 1973":

"Under the freeze of both wages and prices, any increase in output will automatically benefit profits or other non-wage incomes, and the economy will on present trends be expanding at around 4% during that period." (p.22) "Any policy on inflation must ensure that the real growth of the economy is fairly shared. Thus, profits can increase sufficiently to finance new investment without the share of the national income going to profits increasing. The original Government proposals of Sept 26 would have meant that non-wage incomes such as profits and dividends would have been rising 1.5 times as fast as wages and salaries," (p.24) "In framing its Budget proposals this year, the TUC is suggesting that a 5% increase in real output will not be sufficient to meet these competing claims on resources in order to allow an adequate rate of growth of real consumption. It is therefore advocating an injection into the economy of around £600 million which will increase the growth rate by 1.2% per year over what it would otherwise have been, that is to 6.2%" (p.28, injection means Government debt: credit creation). "In the interests of equity, these concessions (Government concessions to surtaxpayers and dividend earners) should be reversed in April 1973." (p.42) "The major error in the Government's approach is its attempt to ignore, indeed override, existing collective bargaining machinery. To do this is to neglect the only available means for ensuring that workers' interests, their problems, priorities, needs and aspirations, are built into the formulation and development of policy, and that general pay recommendations are tailored to the circumstances of particular cases." (pp.44--5)

The terms "fairly shared", "adequate rate of growth of real consumption", "equity", "reasonable increase in real incomes" can only be understood in reference to a social decision: only the members of a national economy can decide what "fair" or "reasonable" or "adequate" is. By arguing in favour of the present system of collective bargaining, the TUC supports leaving these decisions to the workings of the economic struggle: i.e. the relative strength of the different sectors of the working class both competing against each other and also competing with resources which would otherwise be used for producing means of production. It argues on the basis that the present form is the "only available", i.e. the TUC are unwilling to acknowledge that other forms are possible. The Government and the CBI argued that another form was necessary because of the change in the structure of the economy. The TUC specifically refutes the position that change in the form is necessary because of a change in the system of production and distribution: 

"The General Council believe that the Government's statutory approach will certainly not fulfil its authors' expectations. Indeed, it is somewhat arrogant on the part of the Government to consign free collective bargaining to three years' suspension with further periods of one year's probation at the same time as it claims to believe in voluntary agreement. The Council believe that the demise of this policy will arise from its own internal contradictions, and its lack of flexibility may well lead to specific industrial situations of some gravity." (p.46) 

I.e. it is the Government's arrogance that has led them to enact a statutory policy and not the need to change the consciousness of classes to reflect a changed reality (for the Government were certainly not asking the working class to surrender its class organisation, political position as a class or class consciousness. The fact that the TUC were representing the working class and that at no time did the Government claim to be acting for the working class shows this.)

Under the present system of collective bargaining the wages of an individual sector of the working class (e.g. engineers) are determined 

(l) by the strength of organisation of the workers (their ability to disrupt production); 

(2) their organised strength as compared with the organised strength of other workers in the same industry (the ability of white-collar workers in engineering to compete against manual workers for the same wage fund); 

(3) the ability of that section of workers to get the support of the rest of the working class for their claim. For the miners to win, it took the active support of the power workers, railway workers and engineers. There is also a political aspect of the class' support. If the working class are unwilling to support a sector of itself, the amount of disruption caused by a strike will be tolerated indefinitely by it without there being "public outrage". "Public outrage" which leads to a Court of Inquiry and a settlement in the workers' favour develops when the working class decides that that sector is worth support. Thus in the postmen's strike of 1970, the working class put up with considerable disruption over 7 weeks without any "public outrage".

The total wage bill for the national economy is determined under the present system of collective bargaining in Britain by the working class' power as an organised class to use its place in production to gain wage increases from the bourgeoisie. In the absence of profitability as a criterion for continuing production, this power is in the end limited by the class' consciousness of what is (a) possible and (b) desirable to gain: 

"In Britain since the war, we have taken a higher proportion of GNP into consumption than any other advanced country. Germany was the first example of a country which saved, both nationally and privately, and guided the savings into investment. In this connection the policy of the present Government in taking money out of the pockets of the people, by demanding realistic rents, food prices and payments for social services is surely right; but right only if the money taken out of circulation is directed into industrial investment. Since, in the political and social climate of this country, such a dirigiste policy is unattainable this side of the barricades, we must resign ourselves to increasing social and personal deprivation as industry increasingly is unable to bring home the bacon." (the pure-capitalist already quoted, Observer, 25.2.73) 

Inflation has resulted because instead of seeking "public money" in the first instance to finance wage increases, firms put up prices in an attempt to remain profitable or even cover costs. In many cases they have done both (e.g. shipbuilding and machine tools). The Government's regulation of price increases as well as wage increases is to see that no capitalist "profiteers", i.e. makes profits which he does not "deserve" out of the vicissitudes of the market. Price increases will be permitted if they arise from an increase in the cost price of production to the capitalist: i.e. if his raw material prices increase or if his wage bill increases by £l + 4% per worker (though only half of labour cost increases can be passed on). If the capitalists' costs per unit of output decrease, he must reduce his price.

WHAT WOULD THE CHANGE MEAN?

What would the conscious regulation of wages involve that necessitates the change from the present system of collective bargaining? At the tripartite talks it was agreed (for the sake of discussion only) that there should be a common figure for wage rises for all workers. If a sector of the working class were to have more than this amount, their entitlement would have to be accepted by the rest of the working class and the "nation" as a "special case". The only change which this involves is that instead of establishing the wage bill as a by-product of all the separate disputes described above, it is established with reference to the amount of the economy's resources which it is decided by both classes can be devoted to consumption. This amount is established after assessing the ability of the economy to produce at the present point in time; assessing how much of its resources should be used to produce means of production to enable production to increase; and assessing how much is an adequate level of subsistence for the working class. The only price increases which the Government will allow are those caused by an increase in the capitalist costs.

The TUC opposition to conscious regulation is that it changes the old way of collective bargaining and that the old way is the only way the working class has. The questions which the conscious regulation of wages raises which the TUC does not deal with openly are 

(l) if the global amount of wages (consumption) is to be consciously determined, why should differing amounts received by differing sectors of the working class continue to be determined unconsciously, as a result of the vicissitudes of the economic struggle, by sectors of workers competing against each other. It is not immediately apparent under the old form of economic struggle that wage increases are determined in competition between sectors of the working class. Incidents like the summer 1972 dock strike against container workers occur infrequently. The TUC's position is that such matters are best left to "tradition" and that the lower paid worker should be helped by: 

"eliminating lower rates or shortening unduly long salary scales which do not reflect differences in performance; improving the job content, and therefore earnings potential of lower paid grades; extending incentive schemes to lower paid grades or increasing basic rates in order to reduce undue reliance on plus payments such as overtime, piecework and other variable bonuses; reducing the age at which workers receive the adult rate; and the elimination of unfair discrimination against women workers. The policies set out in this paragraph are far more relevant than any question of reducing the differential between the unskilled, semi-skilled and skilled rates." (p 43) 

This completely begs the question of why there are wage differentials and also the question of where the wage increases for the lower paid will come from. Once the global figure for consumption is consciously determined, it becomes immediately apparent that it must come from other workers.

(2) once how the means of production and labour power are to be employed (in producing commodities for consumption or means of production) becomes a conscious social decision, then it also becomes apparent that non-productive labour is socially necessary labour (is employed and paid) only because productive labour has permitted it to exist. The question of what in fact constitutes productive labour arises. (That this is indeed the case can be seen by the action of the working class in World War II when the nation had decided that an increase in production was necessary, i.e. both bourgeoisie and working class. Workers committees introduced changes in the production process to increase production: they consciously regulated it.) The question of why a chargehand or foreman is being paid for non-productive labour when he could be working productively is definitely on the agenda. I have pointed out that management already acts on the basis of the working class regulating its own conditions of production. The conclusion that non-productive labour in the production process should be abolished is definitely viable: i.e. the working class has the ability to enforce it because the function that the non-productive labour of chargehands and foremen at present fulfils can be undertaken by productive labour itself.

ARE THE TUC LEADERS OR ARE THEY REPRESENTATIVES?

By refusing to deal with these questions, the TUC has not betrayed or gone back on demands made of it by the working class. The working class' consciousness has not reflected the changed situation in the economy and indeed still sees the old system of collective bargaining as the only way of defending and furthering their interests. The working class is taking up a conservative position on the basis of its consciousness and the TUC is leading the working class from that position. The 'left' have enforced this conservatism by arguing, as does the TUC, that the only reason the Government has introduced the Freeze is "arrogance" and the desire for more consumption for the bourgeoisie: greed and avarice. The 'left' have also enforced the conservatism by arguing that the present system of economic struggle is quite adequate to defend the interests of the working class.

The TUC's and the "left's" leadership is pure oppositionism, which is indeed the essence of a conservative position. The conscious regulation of wages is opposed and because neither the TUC nor the 'left' acknowledge that changes in the economy make changes in the political forms relating to that economy necessary, they have not found it necessary to argue that another mode or form than the Government suggests should be put in place of the Government's Freeze.

The inevitable result of taking up a conservative position is that the change in consciousness and form necessitated by the change in economic reality will be determined by the conscious elements in the society who are willing to deal with the changes and develop politics and consciousness on the basis of the changes. In fact, the TUC and 'left' have abdicated the leadership of the working class to the Conservative Party, the Heath Government and the CBI, because these have proved the only conscious elements in the society who are dealing with the changes in the economy. The TUC and 'left' are relegated then to mere instruments or vehicles of the working class. What the TUC and 'left' do is determined (a) by the changed economic conditions, (b) the changes in political form and consciousness being ordered and determined by other elements in the society and (c) their formal position of holding back any change in the name of the interests of the working class.

The "solution" which the TUC and 'left' have put forward is that things should go back to where they were before. Ken Gill, far-left member of the AUEW was asked on television what he thought ought to happen. Though he had previously expressed his belief in socialism as the only goal for the working class, he unhesitatingly replied that we ought to get back to "free collective bargaining." I have not mentioned the Labour Party in this description for a definite reason. The Labour Party has ceased to have any force in this situation because it has been sharply reined in by the trade unions and the 'left' for any attempt to change political forms or consciousness of the working class. Putting its existence as a political party before the need for politics to deal with changes in material reality, the Labour Party survives as a political party (as opposed to a working class pressure group) through the sheer weight of historical inertia: there is no reason for it to disappear at a stroke so it will simply wither away as a political force unless it does face reality and not funk the question of putting that reality to the working class. 

The 'left' have been gleeful at this withering away, taking it as a sign of the ripening of revolution in the soul of the working class. In fact, it represents the failure of working class' consciousness to develop and face reality. The 'left' will certainly not be able to supersede the Labour Party as the political party of the working class, because the Labour Party has been acceding to every Conservative suggestion put forward by the 'left'. The Labour Party has indeed historical inertia on its side and the 'left' will not be able to replace it as long as they simply try to be more militantly conservative than the Labour Party, because militant conservatism is being practised at the moment very successfully in the Labour Party..

THE PRACTICE OF THE WORKING CLASS: HAVE THEY FOLLOWED THEIR LEADERS?

How effective has the TUC's leadership been in opposing the Freeze? The TUC Report stated that the Government's policy would fail, was doomed as a result of its own internal contradictions. This can only mean that the TUC expect that the working class using its organised power will make the law, the statutory regulation of wages, inoperable. When that happens and the old system of collective bargaining carries on, the Freeze will be irrelevant. This has also been the 'left''s position: the working class should use its organised power to force wage increases of more than the £l + 4% as and when the vicissitudes of the economic struggle produce a fight. The difference between the TUC and the 'left' has been one of function: the 'left' have been urging more militant, more determined action from the working class than usual, while the TUC have simply waited for the 'left' to produce that militant and determined action before the TUC formally support it. At the one day TUC Special Congress, the trade unions acknowledged that a militant position should be taken by the working class. The one day general strike would be formally sponsored by the TUC as the legitimate representative of the working class as a whole. The TUC would leave it to the 'left' to actively organise the working class in support of that protest.

This means that to the extent that the 'left''s arguments in favour of determined, open opposition were successful within the working class, the one day strike would have the actual support of the working class in practice. Similarly with TUC support for the sectors of the class on strike: they would be supported by the TUC formally and in practice to the extent that the 'left' succeeded in marshalling its proletarian troops.

The 'left' now have a clear field in which to act. Their call to action and solidarity and struggle is opposed by no one, indeed it is formally supported by all the institutions of the working class (the TUC, the Labour Party). The only forces opposing the 'left' in its bid to lead the working class are the changed economic reality and the developments in politics and consciousness (he Freeze and the Conservative and CB1 explanation of it) which reflect that change.

At the time of writing, the action of the working class has shown that the fact of there being changes in the economy which necessitate the conscious regulation of wages has been accepted, and in default of the 'left''s developing the working class consciousness of these changes, the explanations offered by Heath, the CBI and the Daily Mirror are all the working class has to go on. It should be noted that none of these are 

(l) attempting to render impotent or integrate into bourgeois organisations the organisation of the working class 

(2) flaunting the demands of the working class insofar as those demands do not conflict with economic reality 

(3) attempting to develop the consciousness and organisation of the working class to enable it to replace capitalism (i.e. they are not pointing out to the working class the two issues referred to above - why different wage rates are paid to different sections of the working class and why non-productive labour remains socially necessary labour in the production process - and the fact that the working class has the ability to do something about each of these). However, they have raised the two issues, of 

(l) the continuing existence of Britain as a national economy capable of continuing to accumulate enough capital and produce means of production and skilled labour capable of maintaining Britain as a national economy 

(2) that the capital accumulation undertaken by the state or with "public money" should be subject to the conscious regulation of society as a whole rather than the state apparatus (either through Parliament or the Tripartite economic management which Heath offered). These have been raised from the point of view of the continuing existence of the bourgeoisie and on the basis of the existing division of labour (both have been assumed).

If there is no other element of the society besides Heath, the CBI and the Daily Mirror to offer explanations of reality which make sense, the trade unions and the present system of collective bargaining will remain unchanged. The only change will occur in the conscious regulation of the global figure for wages. This will mean that the trade unions and 'left' will be forced to deal with the other questions when they are thrown up by the vicissitudes of the economic struggle (e.g. the summer '72 dock strike). And they will be forced to deal within the terms of the consciousness of the working class which has emerged from the experience of industrialisation up to the application of Keynesian solutions and its consciousness developed since then by the bourgeoisie.

The fact that there has not been active, organised support for the gasworkers or the teachers or the hospital workers and the fact that the Ford workers did not follow the 'left' stewards' unanimous exhortations to strike shows that the working class has accepted the £l + 4% limit as being necessary. The 'left' has had all the access to the ear of the working class which they could desire (the TGWU and AUEW in no way interfered with the Ford shop stewards committee taking the decision to strike or the stewards conveying that decision to their members). If the 'left' have failed to mobilise the working class, it is due to the working class taking a more realistic view of the economic situation than the 'left'. The practice of the working class has been a more accurate reflection of reality than has the politics of its leaders or of the 'left'.

THE REALISM OF THE 'RIGHT'

There have been elements within the working class who have understood the fact that the conscious political position the class is taking is a conservative, oppositionist one. Consistently within the General Council, there have been TU leaders arguing for participating in the Government's Freeze (in the talks about the Green Paper, nominating members of the Pay and Prices Board). These leaders have argued from a pragmatic position: that the Freeze is a fact and should be recognised as such and the working class interests maintained within it.

The unspoken warning behind this is that if the trade unions do not defend the working class in the changed reality, then the working class will see that the unions are not necessary to defend their interests and the unions will atrophy because they are no longer needed by the class in the changed situation. These leaders have argued for TU participation because they are interested in developing the working class' consciousness of the changes and the working class' ability to force greater changes in its own interests. They are the 'right' and they have been resoundingly defeated inside the TUC.

The 'left' trade union leaders' defeat of the 'right' has been on the basis that the new institutions will disappear when the working class defeats the Freeze and at the latest when the next Labour Government is returned. Therefore, there is no need to accommodate and work within them. The unspoken reasoning behind this position is also pragmatic. It arises from the certain knowledge of Jack Jones and Hugh Scanlon that if the trade unions do start participating in the conscious regulation of wages, there will be much disquiet and uncertainty in the working class. The disquiet and uncertainty will arise because the class will be coming to terms with the changed economic reality and the fact that its old consciousness and organisations are not adequate to defend and further its interests. There will be disquiet and uncertainty until a new consciousness and new organisations are developed (or the old organisations are changed). It will seem as if the class is defenseless until its consciousness understands how to defend the class in the changed situation and organisation is evolved to undertake that new defence. There will also be a whole new area of reality which the working class has never confronted before consciously. That area is the question of what should be produced with "public money", what labour is productive labour and how the production process should be organised to develop the productive forces within a national economy and how the wages of the working class as a whole should be divided amongst it.

Confronting a new area of reality with the knowledge that the working class can determine that reality consciously, indeed must determine that reality consciously if its interests are to be defended and furthered, will cause fear, uncertainty and disquiet until the reality has been analysed and understood and reflected in the working class' consciousness. It is a fear and disquiet and uncertainty of the magnitude experienced by the working class when it was displaced from artisan and small commodity production into factories and industrial production in the last half of the 18th-early 19th centuries.

Like that experience, it is a new aspect of reality for the class because it is a result of the further development of the productive forces which has meant that the working class must face the change because its place in the production process has changed.

Jones and Scanlon know that once the trade unions begin accommodating and adapting to this changed reality, disquiet and fear will develop; and unless there is some element within the working class capable of explaining and analysing the change, they know that the working class will force its leaders back into the old ways because the class believe it is still the only way of defense. Thus, they are attempting to avoid the certainty of a very great confrontation between the working class and leaders who have changed their ways (accepting the Freeze) and not explaining or being able to explain why (as the 'right' certainly cannot) by militant conservatism.

In this situation, the Economist's and FT's predictions that if a confrontation between TUs and Government did arise, it would be the 'right' who would benefit makes sense. Because the 'right' are reacting to reality by acknowledging it and attempting to further the working class' interests within it and the 'left' are insisting that the reality does not in fact exist and the bourgeoisie are acting from avarice and arrogance.

JOE GORMLEY - GETTING SERIOUS

There has been another element in the working class who have reacted to this situation on the basis of a highly developed political consciousness, determined by the political forms in Britain. This element was expressed by Joe Gormley:

"The time for huffing and puffing is over. The unions have done their stint of shouting slogans, organising demonstrations and one-day stoppages. Now is the moment to put their feet where their mouth is. The choice is simple. If you can't abide the Government's policies and you can't change those policies, then you must change the Government. And that must mean the TUC calling a General Strike. But if you shrink from such action, then you must have the courage to admit you can't defeat the Government. And that must mean accepting the Phase 2 restrictions on wages with individual union leaders doing the best they can for their members ... The unions have told the Government what must be done to make its present economic policy fair and just. Postpone rent rises, control food prices and the rest. All have been turned down by Mr Heath ... So what can be done? In its entire history the TUC has never challenged the Government by calling for a General Strike in order to bring it down. But there is always a first time. If you do, it isn't enough to force a General Election. To achieve your objective you also have to win it ... It's the so-called militants always shouting their mouths off who are now shrinking from decisive action ... The question stares us in the face. Do the mass of workers want to get rid of the Government as the only way of ridding us of its policies? And if they do, are they willing to steel themselves to take the necessary action? Let us make up our minds one way or the other and then face up to the realities of whatever choice we make." (News of the World, 1.2.1973) 

This reflects the undoubted fact that in Britain the working class has the recognised political power to enforce the alternative to a Government with which it disagrees. It also reflects the weapons of the bourgeoisie in Britain: Gormley replied in kind to the question posed by Maurice Macmillan when he was interviewed on Radio 4 after the 8 o.clock news soon after the TUC had decided on total opposition: "If the trade unions disagree with us, let them come forward with their own suggestions." The bourgeoisie and Heath do not expect the Freeze to be obeyed because it is law. They do "expect" that if it is opposed the working class should put forward an alternative. Gormley shows that he understands the working class' alternative must be equally conscious and organised as Heath's, and that it must be enforced with the force of the whole class on the society, using a General Strike if necessary. Gormley does not see the "failure" of the discussions to gain the TU's stated aims as excusing the TUC or the working class from enforcing what they believe to be right and in their interests.

The 'left''s response to Gormley was highly instructive. He was accused of "splitting" the movement and disloyalty and treachery. Why? Because it was clear, said the 'left', that the Government's mind would not be changed and that the working class could do nothing more than resist the Government. To suggest that the working class could do more than oppose, was leading it up the garden path. The only possibility was to insist that everything should go on as before. Gormley was a traitor because what he was suggesting might divide the working class: i.e. the platform of the Labour Party would have to be discussed and worked out and supported by the class before it would have the will and make the effort to put the Labour Party into Government (i.e. it couldn't just be any old General Election. The working class would have to make sure its interests were reflected in the voting in that election).

Similarly, the TUC Report quoted above was published as a definite alternative to the Government's Freeze (as was the joint TUC/Labour document which is practically the same). It was publicly sent to the Government with a formal letter stating that the TUC viewed it as an alternative to the Government's Freeze. The Report was unanimously approved without debate or discussion by the Special TUC Congress in which the 'left' upheld the working class' interests by forcing debate on methods of opposing the Government.

When the General Council considered the Report, one TU leader suggested as a matter of course that the Report should be put to monster mass meetings convened by the TUC in every industrial city and town; that not only trade unionists, but their wives whose household money the Freeze was affecting, should be invited; and that the meetings should consider, discuss and adopt the Report as the working class' alternative. The response to this suggestion from the General Council was humorous embarrassment. It was not treated as a serious, practical suggestion and was therefore not even debated, but just bypassed.

Now, if the General Council had treated the Report as a serious alternative to the Government's Freeze, they would have taken this suggestion very seriously and implemented it. The men of the General Council know very well that if their demands on behalf of the trade union movement are to be taken seriously by the Government, they must be backed by the active and organised force of the working class. In Britain that force is deployed by 

(l) arguing the case for the demand inside the working class and winning the class for it 

(2) by then showing the determination and force of the working class to implement that demand (demonstrations, meetings, lobbies of Parliament, strikes). This is exactly what the General Council did when the Industrial Relations Act was introduced and passed through Parliament. The TUC case against the Act was written and distributed free to literally every trade unionist in the country; meetings and schools about the Act were held in every industrial city and town; a petition was organised, there were many lobbies of parliament (a TUC one and then individual unions and Constituency Labour Parties lobbies); there was a monster demonstration: and the 'left' was successful in organising a series of one day unofficial general strikes. Finally, there was the unofficial general strike tacitly sanctioned by the TUC when the 5 dockers were arrested. The result is that the Industrial Relations Act is now inoperable and openly acknowledged by the society as being such. 

The fact that the General Council refused to consider this course of action when it had been put to it by one of its respected and powerful members shows that it did not take the Report seriously as the alternative of the working class.The 'left', whose intelligence about what happens at General Council meetings is extremely good, has not revealed this fact to the working class as being worth the working class' notice. Nor has the 'left' argued that the Report should be adopted by the working class as its alternative, and enforced by the working class with its organised force. The Special Congress was prevented by the 'left' from discussing that Report because it was felt more important to organise militant conservative opposition instead. Indeed, the 'left' has been totally unconcerned with formulating an alternative to the Government because it has been unwilling to admit that there is a need for an alternative. The 'left' is concerned with preserving the "status quo", thus alternatives are of no relevance. 

There is, of course, "socialism". That, it might be timidly suggested, is an alternative. But the 'left' reply that the working class is not ready for that yet, it would not support socialism and therefore we cannot dare to hope for it or put it forward as a real alternative (except as a clarion call to rally the 'left' faithful). The struggle is for now and socialism is for later. The TUC felt constrained to produce their Report and send it to the Government for the same reasons they felt constrained to attend the Tripartite Talks in the first place. The Government had reality on its side in insisting that there was a problem and that something had to be done about it. It also insisted that the working class as the working class should have a part in determining that solution. The Government had to so insist because in Britain since 1867 the working class has been an acknowledged political power and the Government would ignore this fact at their peril. But, because the TUC and the 'left' have refused to explain to the working class why the Tripartite Talks were taking place and put to the working class the question of what demands, what alternative, the working class should have in this new situation, the Government has had to act unilaterally and to legislate taking into account the TUC's objections but without the active assertion of the working class' interests by the TUC. 

SITTING ON A POWDER KEG

This is why political commentators in the press have described politicians (including 'left', Labour and Conservative) as sitting on a powder keg at present and needing to "do something" do disprove the widespread cynicism in the working class. When no element in the working class' political leadership will go to the class and explain the situation and invite discussion of alternatives to adopt, then the class is entitled to feel cynical towards its leaders. It has not been consulted.

Similarly, when the accuracy of Heath and the CBI's description of the economy is apparent, there will be much reaction and discontent within the working class. As a class, it is capable of reason and it is going to ask why nothing was done on its behalf. This is the powder keg which is the lot of the 'left' and trade union leaders who will not believe that their class is capable of reason and apprehending reality. (Heath's success in winning working class support must be limited. One might well ask, if he is right and if he has reality on his side, then why doesn't he cash in on this and tear the Labour Party to pieces and castrate the left. The answer is that Heath is not an opportunist. He and the Tories understand that the working class must continue to be led principally by their own political party and their own political leaders. If these leaders are rendered impotent by their own mistakes, for Heath to cash in on this would be at the peril of British parliamentarism. Heath is more concerned with preserving parliamentarism than he is in enshrining his name in history or even winning the next election. He acts by such principles because he sees politics as being simply a reflection of reality and that that reality must be acknowledged or else order and stability are indeed in question. In acting thus, he is simply following the tradition of the most successful British politicians.)

Already, we can see signs that the working class is weighing up the accuracy of the two positions and asking questions. "It is healthy that the Labour Party and the unions should tell the nation what to expect from another Labour Government - and what is wrong with Mr Heath's economic policies. But there are parts of the policy document, issued by Labour yesterday, that read like a Victorian treatise on sex. It tells you all about the birds and the bees - but nothing about what happens when father and mother go to bed. Easy enough to knock Mr Heath about. The policy statement makes valid criticisms ... If another Labour Government could adjust the balance, the nation would be well served. It will not be well served unless the Labour Party and Unions face a crucial fact of life: If prices are controlled, there cannot be a free-for-all on wages. This is where the policy statement turns Victorian prudish. Not a mention of incomes restraint. Labour MUST come clean on its policy for incomes before the next election." (Daily Mirror, 1.3.1973) 

"Will the TUC show equal common sense in trying to find answers to the significant questions asked by Mr Heath in a speech last week? The Prime Minister put those challenges to the TUC: (l) 'How in a free society we can agree on the resources available for wages and salaries and how these should be divided between the different groups of workers?' (2) 'How can we make the system of free collective bargaining one which enables orderly progress to be made instead of one that is constantly generating inflationary pressures?' Or, put in practical terms, how (on a voluntary basis) can the railway worker he given the extra cash he believes - and others may agree - his skill deserve, without the railway porter demanding an equivalent amount? And how do we decide what is fair for both groups? ... Of course, in one day's discussion (the Special Congress), the TUC will not be able to find the answers to the Prime Minister's questions. But sooner or later they will have to give the answers, whether they are asked by a Tory or a Labour Government. That is the only sane way out of a recurring COMPULSORY system of prices and incomes control." (Mirror, 5.3.73). The Mirror quoting Feather at the one day Congress: "'If there is an agreed programme, covering economic development, pensions, prices, rents, income and taxation, then we can agree to help carry it out.' All that - and Heaven too! But WHO is going to control wages? And WHO is going to pay the bill?' Mr Victor Feather is a pedlar of dreams." (6.3.73)

The Mirror clearly expressed another element of the working class consciousness when it supported the grievances of the working class as put forward by TUC as genuine and having to be justly redressed by the Tories. "The rich ARE having a bonanza. The poor ARE being left behind. Prices HAVE been let rip far too much. Houses ARE too dear and too few. Land and development speculators HAVE never had it so good." (1.3.73) 

Future articles by myself and Richard Jones will deal with the reality these grievances reflect. The articles will argue that these grievances can only be dealt with by moving forward, not by standing still as the TUC and the 'left' are advocating (a repeal of the Housing Finance Bill with the additional housing needed to come out of thin air; food subsidy without an Empire to draw on for cheap food supplies etc). The articles will argue that the redress of these grievances is only a 'right' of the working class if the working class has the will and develops the ability to develop the productive forces in its own interests HERE and NOW. It should also be noted that future articles will follow up the parts of the TUC Report and Wilson's recent speech re workers control which gingerly acknowledge the changes going on before their eyes without also acknowledging that these changes will mean the old ways must come into conflict with the new and the trade unions and Labour Party change as a result.
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